Meal Out

This problem gives you the chance to: I 1
» use algebra to represent a real situation

» solve an algebraic equation
* check that the answer works

Ten friends go out for a meal. Dmm 77{%@

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. TWO'CO;rse meal
12
1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See our delicious choices!
15x+12(x-10) =141
15x +12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? \Si +\>~( \O'x)"‘\L“

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

el i
5x W= A1
RFE]
X%

Number who had three-course meals '1

Number who had two-course meals 3 - . ‘
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Meal Out T
This problem gives you the chance to: 2

» use algebra to represent a real situation
» solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @wm W{emt

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See nur delicinus choices!
15x +12(x -10) =141
15x +12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? | 6 X+ \’Z\j SEL ~

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

155710 57 =\D < _
250 BHUR 2B

132 X=)
/4 v =3

Number who had three-course meals T

Number who had two-course meals 3 . :

i
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Meal Out

This problem gives you the chance to: T3
» use algebra to represent a real situation

» solve an algebraic equation

» check that the answer works

Ten friends go out for a meal. @m@z 77(%4

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12
1. One of these equations can be solved to find the correct
value of x.

15x +12x =141 ; See our delicious choices!
15x+12(x-10) =141
15x+12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? I 5)( 1 I QQO‘X): lﬁ \

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

Is@E~1200x?)

159 12(3)
105+ 30

Number who had three-course meals 7
Number who had two-course meals 3 .
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Meal Out

This problem gives you the chance to: ‘ l 4

« use algebra to represent a real situation
« solve an algebraic equation
* check that the answer works

Ten friends go out for a meal. @mm %ﬂﬂ

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. TWO'CO;rse meal
12
1. One of these equations can be solved to find the correct
value of x.
15x+12x =141 See our delicious choices!
15x+12(x -10) =141
15x+12(10 - x) =141
X(15 +12)x =141
15x+12y =141

Which is the correct equation? \Sx\vx= Y\

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

dy . V5B, 1 1R(s. 2N =14
CVE D S e
\“'\\\ \l\$ 6" /

Number who had three-course meals

N

D1

Number who had two-course meals

.;/
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Meal Out

This problem gives you the chance to: T5
» use algebra to represent a real situation

* solve an algebraic equation

» check that the answer works

Ten friends go out for a meal. Dmm %e(rw

Some friends have three-course meals and the rest

have two-course meals. Three-course meal
$15

The bill for all 10 meals is $141 dollars. ‘

The number of people who have three-course meals is x. Two-co;rse meal

12
1. One of these equations can be solved to find the correct :
value of x.
15x +12x =141 See nur delicinus chonices!

15x +12(x -10) =141
15x +12(10 - x) =141
(15+12)x =141
15x +12y =141

Which is the correct equation? ISx» |2( \0 -—3 )= A\ g —

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

Bx + 1400 = W4 | |
}Sx+ 120~ 12X = wl o - Dj
- YaX :
—Zoa120= Wl X= 3
3%+ Y20 _'_'_,\,7:‘%/—« 1
= 2

n— -

Number who had thr&€-course meas —’

Number who had two-course meals 3 I :

Copyright © 2011 by Mathematics Assessment Page 3 Meal OQut -~
Resource Service. All rights reserved.




Meal Out

This problem gives you the chance to: S 1
+ use algebra to represent a real situation

» solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. DCW %&’M@

Some friends have three-course meals and the rest i
have two-course meals. lhree-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal
$12
1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See nur delicinus choicesl!
15x+12(x -10) =141
15x+12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? lSﬂ \A(IQ- X 3 - ] "H -

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

M |
280 6% + RO0-P=M - guess ¢ cheeK .
2,7 1%63) D B X

N/
e & 26 =1l

Number who had three-course meals

W N

Number who had two-course meals
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Meal Out

This problem gives you the chance to: 82

+ use algebra to represent a real situation
* solve an algebraic equation
* check that the answer works

Ten friends go out for a meal. @W 77Zem¢

Some friends have three-course meals and the rest
have two-course meals. ) Three-course meal

$15
The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

ISx+12x =141 See our delicinus chonices!
15x+12(x=10)=141
15x +12(10 - x) =141
(L5-+E2)x=121
Bx¥t2y=141

Which is the correct equation? \5x + 2. (jo=- X)) =4y

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

1Sx+12(10-x)=1y )
-15x -\Sx o

2( \o-)Q = \%x
—-\‘4 = %x

Number who had three-course meals 3
Number who had two-course meals 2 .
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Meal Out
This problem gives you the chance to: 83

* use algebra to represent a real situation
« solve an algebraic equation
« check that the answer works

Ten friends go out for a meal. 26%% %eétﬂ

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See our delicious choices!
15x+12(x-10) =141
15x+12(10 - x) =141
(15+12)x =141
15x +12y =141

Which is the correct equation? |Dat[2y=1] ™

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

Number who had three-course meals l -
Number who had two-course meals 3 - - ;
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Meal Out

* use algebra to represent a real situation
* solve an algebraic equation
+ check that the answer works

This problem gives you the chance to: S4

Ten friends go out for a meal. DW %ew

Some friends have three-course meals and the rest
have two-course meals.

Three-course meal
$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-course meal

$12
1. One of these equations can be solved to find the correct
value of x.
15x +12x =141 See our delicious choices!

(1 x-|-212&x -10) =141
33 ) (5 (2)H2(10- =\

15x+12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? [SxL010-%) =14 |

2. Solve the equation and find the number of people who had three-course meals and the number of

people who had two-course meals.

Show how you figured it out and show that you have tested your answers to see they are correct.

15X (20 ~ ) =¢
S crectc _
2107 1AL ABR (3 +\2(0-H =y |/ N

MY EsAT AT\ 3 -
120, ‘\1 RN ‘ [ (A

Y20 “ M- 3
vy { —\ ¥

ST
"3 73
T

L

z %

Number who had three-course meals A

Number who had two-course meals 3
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Meal Out
This problem gives you the chance to: 85

» use algebra to represent a real situation
* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @W 77{%«

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. TWO'CO;rse meal
12
1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See our delicious choices!
15x+12(x -10) =141
15x+12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? l S‘X +| a‘ (!0‘ X) - l"f/

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

1 Sl IS ls’;q=’3»$.n@ | §x 73/09 e s
2 x93 1° e 223 = 36 s
e

Il

Number who had three-course meals

Number who had two-course meals 3 .
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Meal Out

This problem gives you the chance to: 86

use algebra to represent a real situation
» solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @amm %@W

Some friends have three-course meals and the rest .
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. Two-co;rse meal
12
1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See our delicious choices!
15x +12(x -10) =141
15x+12(10 - x) =141
(15+12)x =141
15x+12y =141

Which is the correct equation? lS)G [ LY —(4 /

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

\ Xﬁz\f, L4
ISy s Mi-12X

+12
?}ﬁhﬂ”
21 7

¥5'§1

Number who had three-course meals v (0

Number who had two-course meals Y . T

Copyright © 20011 by Mathematics Assessment Page 3 Meal Out;,/ o

Resource Service. All rights reserved.




Meal Out

This problem gives you the chance to: 87

* use algebra to represent a real situation
* solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @mm %eam

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

15x+12x =141 See nur delicious chonicesl!
155 +12(x - 10) =121

45x+12(10 - x) =141
(15 +12)x = 141
15x+12y =141

Which is the correct equation? \5 * ‘\’\2-\\‘ Z \4|

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and sh

5) s ’
vs(5)an °) ls(v)ftzu’)\

at you have tested your answers to see they are correct.

|S'L\ﬂ) 4'\7-'\.4'\

13¢
Number who had three-course meals =1
Number who had two-course meals S - ;
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Meal Out

This problem gives you the chance to: 88

» use algebra to represent a real situation
» solve an algebraic equation
» check that the answer works

Dinner Mena

Ten friends go out for a meal.

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15
The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

See nur delicinus choices!

15x +12x =141
15x +12(x -10) =141
15x +12(10 - x) = 141
(15+12)x = 141
15x +12y =141

Which is the correct equation? ‘5)( + IQ(JO"X ) < [‘(I

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

7.5 (05 10§

3123 2@ —ﬁéx‘ |

Number who had three-course meals 7
Number who had two-course meals ‘3 . ‘
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Meal Out
This problem gives you the chance to: Sg

» use algebra to represent a real situation
» solve an algebraic equation
* check that the answer works

Ten friends go out for a meal. @cmze'z %ean

Some friends have three-course meals and the rest

have two-course meals. Three-course meal
$15

The bill for all 10 meals is $141 dollars.

The number of people who have three-course meals is x. TWO'CO;rse meal

12
1. One of these equations can be solved to find the correct
value of x.
15x+12x =141 See our delicious choices!

15x+12(x -10) =141
15x +12(10 - x) = 141
(15 +12)x = 141
15x +12y =141

Which is the correct equation? k\SJ( \?__\J\( = \L\\ -

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

S\ =S NS
|2x 3= %\9 \~\%m

1210 R
Number who had three-course meals j
Number who had two-course meals 3) - .
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Meal Out
This problem gives you the chance to: S 1 O

» use algebra to represent a real situation
» solve an algebraic equation
» check that the answer works

Ten friends go out for a meal. @mm %ﬂ‘

Some friends have three-course meals and the rest
have two-course meals. Three-course meal

$15

The bill for all 10 meals is $141 dollars.

Two-course meal
$12

The number of people who have three-course meals is x.

1. One of these equations can be solved to find the correct
value of x.

% 15x +12x =141 See nur delicinus choices!

15x +12(x -10) =141
A5x+12(10-x)=14

% (15 +12)x =141
15x+12y =141

Which is the correct equation? 1Sx+ (IO -%) = 14!

2. Solve the equation and find the number of people who had three-course meals and the number of
people who had two-course meals.
Show how you figured it out and show that you have tested your answers to see they are correct.

|5xm.(l0-)<\=‘4' -—3—)-(53_'_ Fx|5= 105

5% tio -12x =4 > 3 %2> 36
120 ~|10 ‘y X= 3 , @
15%~12 x\ 3x=2|
Number who had three-coursé meals - _
Number who had two-course meals ,3 - .
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